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Who was the leader of Tana Bhagat
movement which took place during 1913-14?
(A) Jaipal Singh

(B) Sukhdev Singh

(C)Jatra Bhagat

(D)Mahipal Jagat Rana

Mahendra Singh Dhoni, the cricketer, was
born in which district of Jharkhand?
(A)Gumla

(B) Singhbhum

(C)Ranchi

(D)Pakur

Which of the following Sikh Gurus was
executed in 1675 on Aurangzeb’s order?
(A) Guru Hargobind

(B) Guru Tegh Bahadur

(C)Guru Govind Singh

(D)Guru Arjan Mal

Which is the largest Gold producing country 4.

in the world?

(A) United States of America

(B) South Africa

(C)China

(D)Ghana

Who is the winner of the Academy Award
(Oscar Award) for Best Actor 20147
(A)Nicolas Cage

(B) Matthew McConaughey
(C)Huge Jackman

(D)Bradley Cooper
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6.  Which of the following countries was the
largest producer of Mango for the year
2012-20137?

(A)India
(B)China
(C)France
(D)ltaly

7. Jarawa tribes are found in which part of

India?
(A)Andaman Islands
(B) Chhattisgarh
(C)Madhya Pradesh
(D)Maharashtra
8. "Tulsi Smriti Granth", a book written by

Acharya Tulsi, a founder of Anuvrata

movement, was released by which congress

leader?

(A)N. D. Tiwari

(B) Dr. Karan Singh
(C
(D

)Abhishek Manu Singhvi
)Digvijay Singh

9. The National Song of India was composed in 9.

Sanskrit by

(A)Bankim Chandra Chattopadhyay
(B)Rabindranath Tagore

(C)lgbal

(D)Mahatma Gandhi

T§ 2012-2013 ¥ Frafafea & § Faar 290 «
FT T TST IaaTad A77?

(A)sTea
(B)==
(C)wi®

(D)g=<t
AT 3 G ST ST S T s 82

(A) =T T

(B)==haws

(C)HeET w=eT

(D)w=Ty

AT ATETE & GEATTH AT ol g1

forfare A "ot =gfa o v At w |
FUE qar A A ar?

(A)N.D. faarr
(B)=t. ey &g
(C) = s = et
(D) faffas fig

AT T TET T T6ha § e 210 T30 T47?

(A) 3T 7 FZraTeaTT
(B) i3z a1 &M
(C)zFaTa

(D) wZTenT T
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10.

In the state of Jharkhand, which tribe has

10.

AET T | B-T89 ST F 718 § &y

females out numbering the males in their EEELEED RIESI TE STAHEAT 7 A 2
population in terms of sex ratio?
(A)Kharia (A)afea
(B)Munda (B)H=T
(C)Oraon (C)zu=
(D)Santhal (D)=
11. Sattriya is a classical dance form of which 11. At fm s v a7 87
State?
(A)Andhra Pradesh (A) iter raer
(B) Uttar Pradesh (B) IR waer
(C)Assam (C)zraw
(D)Karnataka (D)Fieh
12. Which Australian cricketer died on 12. A de s AR A e e &
27t November 2014, two days after being < AT 27.;‘3._{{ 2014 7 sEzferaT & Fd
struck on the head by a cricket ball during a TRERTRY W gt B w7
match in Sydney?
(A) Phillip Hughes (A FRfSrT e
(B) Peter Brukner (B)tﬁ“a W
(C)Sean Abbot (C)ert T
(D)Michael Clarke N
13. Which of the following awards is instituted by 13. FafET & F FimaT e AT W F
United States’ National Academy of T U HT St Tt (NAE) g7
Engineering (NAE)? ERURERERIE IR I
(A) Wilson Greatbatch Prize (A) Fr=aT eds e
(B)Russ Prize (B)FH TR
(C)The Duke of Edinburgh's International (C)FFF AT UReTaq Tevrae wars
Award (D)#fHe o=
(D) Summit Awards
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14. 1n which of the following cities was ‘Swachh  14. =2 {TTd AEPR FT AT % TeTAHA] 510

Bharat Abhiyan' officially aunched by the arfRrETR e e R agT § g T v an?
Prime Minister of India?
(A)New Delhi (A)TE =it
~ (B)Mumbai (B)H=E
(C)Bangalore (SEREISS
(D)Chennai (Dy===
15. The Battle of Plassey was fought in which of 15, waTet it A=TE, frafafea & & #9 § a9 9 97
the following years? AT AT?
(A)1757 (A)1757
(B)1857 (B) 1857
(C)1854 (C)1854
(D)1810 (D)1810
16. Real is the currency of which Latin American 16. FIF& Ffer ey 2o i et S 22
country?
(A) Argentina INEEIESL
(B) Chile (B) F=rtt
(C)Brazil (SEIEE
(D)Paraguay (DY
17. Under whose leadership was the 'Ulgulan’  17. farfrer SufraeraTe ¥ famm s ager o
Movement launched against British A’ R O A T?
colonialism?
(A)Birsa Munda (A) feraT =t
(B)Kanua Murmu (B) e H,
(C)Tilka Manjhi (C) frer =it
(D)Saheb Munda (D)ATES =T
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18.

19:

What is the name of the Unmanned Air
Vehicle (UAV) indigenously designed and
developed by DRDO which was exhibited in
DefExpo 20147?

(A)Udaan-3

(B) Spyjack-1

(C)Rustom-2

(D)Tejas-1

Choose the correct sequence of the
European countries starting from east to west
from the following.

(A) Ukraine-Poland-Germany-Netherlands
(B) Poland-Germany-Ukraine-Netherlands
(C)Germany-Ukraine-Netherlands-Poland
(D) Ukraine-Germany-Netherlands-Poland

18.

19:

ear i e fay 7 e DRDO ey Fareferm
ATE TR arg arga (UAV) &7 A9 #4978 o
DefExpo 2014 & wafsra T war a1?

(A)SETM-3
(B) EaTEs-1
(C)==w-2
(D)T=E-1

o et § & 0 ¥ = w3 gu atzm ff a7
T AT 90T F ALY SATHA T 797 F4

(A) Tob-TTere- STHHT- Hravded
(B) ATeie-STH1- Zob- Arazdied
(C)STHAT- TohA- Hratdga-Tae
(D)o~ STHHT- raeeigs- drefe

20. Provision related to the administration of 20. FEATHT T F TATHT & HTAT TaETT, AT
Union Territories is included in which part of F | % e o F anfae 82
the Constitution of India?
(A)Part XI (A)wTT XI
(B)Part VilI (B)wmrvill
(C)Part XII (C)sT X
(D)Part V (D)ysmTv
21. Konkani language is usually written using 21. fAmfetes it & & G & s Froroft
which of the following scripts? AT feraT ST 87
(A)Roman (AT
(B)Pali (B)ureft
(C)Gurumukhi (C)T=wdt
(D)Urdu (D)%
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22. \Who has written the book "Dark Star: The

23.

24.

25.

Loneliness of Being Rajesh Khanna", on the
life of film star Rajesh Khanna?

(A)Ronnie Screenwala

(B) Akshay Kumar

(C)Dimple Khanna

(D)Gautam Chintamani

Taj Mahal is located in which of the following 23.

states?

(A) Uttar Pradesh
(B)Maharashtra
(C)Madhya Pradesh
(D)Rajasthan

During which of the following era did Mughal 24.

Emperor Akbar rule?

(A)1545-1555

(B)1451-1526

(C)1556-1605

(D)1606-1628

Cara Black, the doubles partner of Sania
Mirza in WTA championship which the duo

won, belongs to which country?

22..

25:

Riew ET7 TN G ¥ S T ST R R
FrfRrer St AT T @e T e
fordt 22

(A) T ThETen

(B) sterT THTL

(C)Ru= ==

(D)t FEamater

mwﬁﬂﬁrﬁaﬁﬁ%ﬁmmﬁfiwé?

(A)FTT T=A
(B)weTY
(C)meT T2q
(D) TS

e 7T 3 ST T TS SHAL A A
eI

(A)1545-1555
(B)1451-1526
(C)1556-1605
(D)1606-1628

WTA Sfeafare & sraer aret SrSt & artaar
T Y AT FET 0 e T4 H 22

(A)New Zealand (AT e
(B) Zimbabwe (B)Rrear=a
(C)South Africa (C)=feror srhisrT
(D)Denmark (D)TFETH
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26. Adriver driving a vehicle in excess of its 26. fRuifa wrea sfs 9 arer arga s aren
ermissible weight
. g (A) ST GIRT I ST 9T ATEA F1 AL FTaTT
(A)Can refuse to get the vehicle weighed % fore wat T 7 g
when asked by the authority (B) 39+ FTET FT U T HAT FHL TFHaT £
(B) Can refuse to stop his vehicle (C)ITFEFTEY IR IR ST FaAT™ ¥ Tge HfeF
(C)Can remove excess load prior to weighing AT AT geT AR &
D —— (D)3 Ter A1 % forw g, F37 #fiT ofave F
y the authority SR S
(D)ls liable for fine, tax and penalty for
excess weight
27. Which tax is NOT levied by State 27. FF AT TS FLHE TIRT TG AT ST 22
Government?
(A)VAT (A)VAT
(B)CenVAT (B) CenVAT
(C)Entry tax (C)Taer &%
(D)Toll tax (D)Ta-7T
28. To whom is an application given to issue a ~ 28. WIe< aTed % &a¥ & #rex ara+ wfaf7w, 1988,
- 2 . & HFAT 48 F Tgd I 28 F AATIRY THIOTTH
no-objection certificate under Section 48 of -
J _ ST e & forn 6 sraree oo fa s 27
Motor Vehicles Act, 1988, in Form 28 with
respect to a motor vehicle? (A) ¥Rt -
(A) Registering authority (®) fre -
B) Controlling authorit e
® 9 Y (C)=rza T g
C)Licensing authorit
(©) sing ority (D)3Fz
(D)Central Government
29. An application for an International Driving ~ 29. S8 ITfET w2fde 1 sraey Mefafag §
Permit shall be made in AT & R m?
(A)Form 1 (A)H 1
(B)Form 1A (B)wi 1A
(C)Form 4 ()i 4
(D)Form 4 — A (D)t 4 -A
Page 8 of 32
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30. The overall length of the agricultural tractor 30. FAFAH gﬁ%@j AT ZF ﬁg SEIR
Arerfafe § A P : fm
shall NOT exceed N T E <
(A)7.5 Hizx
(A)7.5 metres
(B)8.5 #iex
(B)8.5 metres
(C)6.5 #izx
(C)6.5 metres
(D)10.5 #tzxT
(D)10.5 metres
31. What is the duration for which the Fitness 31, AT SATEATF ATEAL % CILER 3?[35 Rz
THTOT Fi 2 sraty et 2
Certificate is issued in case of commercial 1 e Al &
vehicles for a new vehicle?
: (A)1 T
(A)1 year
(B)3 @ts
(B)3 years
(C)2 &«
(C)2 years
(D)4 |1
(D)4 years
32. Application for Registration of a Motor 32, T HIeT ATEA & IS e e Wi |
Vehicle is to be made in which form? FTAT AR
(A)Form 20 (A) T 20
(B)Form 24 (B) I 24
(C)Form 25 (C)®iH 25
(D)Form 27 (D)t 27
33. For the grant of National Permit to a multi- 33, AE-UFAS WIS ATEH T HE IE FA
axle goods carriage, the age of the motor o e ATe T Y foreft ot e T
vehicle at any point of time shall NOT exceed )
) 1y (A) 14 T & SfareF TET T AT
(B)12 years (B)12‘q’1§€ra|iaq;:§—;§@q-r SHIEAU
4 3yesis (C)13 e & wifers 72 2T ARy
(D18 yeers (D)15 & & arfarer 72T 21 ARy
Page 9 of 32
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34. Application for assignment of new registration 34. T HIZT AT I TF T & AL TST il g2

mark on removal of a motor vehicle to q—f . i R ¥ frafe s o
: oy W § FHIAT ART?

another State is made in which form?

(A)Form 24 (A) I 24

(B)Form 25 (B)wid 25

(C)Form 27 (C)wid 27

(D)Form 20 (D)wiH 20

35. The amount of compensation to be paid 35. HTETTO S F fo Wied are sifarfAaw, 1988
under Motor Vehicles Act, 1988, for a simple * { il s l

ST 272
fracture is
(A) Demand made by the victim ()t grer i i ré rfer
(B)No compensation (B)rE &rfd { fet
(C)As per award of tribunal (C) ST % g o i
(D)INR 50,000 (D)¥. 50,000
36. Who among the following is required to be in 36. ST TF e ATe i Gt off s s &
the driver’s seat when a motor vehicle is ﬁq?; 1 A ﬁﬁ' e ﬁ%“ A e 7
fererenT AME9AH 27?7
allowed to be stationary in any public place? ) Ll “
. . (A) AT=ETHTE 3TEAT

(A) Licensed driver ) g

: , _ , (B)gTEa¥ foraaT ATsHd TaTaters g T g
(B) Driver whose license is expired ) N

. : - (C)3Tzax Rra ATeHT FT Wed L AT AT E
(C)Driver whose license is impounded

D)=T& T FAAT
(D)Cleaner of the vehicle ©)

37. For 4 wheeled sleeper coach, under Special 37. fa9rw Tre 3 ¥ Tga 4-ufRar whow Fwa &
Road Tax, each berth will be treated equal to AT 4 A e H7e F T /AT S

(A) 2 seats (A)2 Hte
(B)4 seats (B)4 =
(C)5 seats (C)5 Hie
(D)6 seats (D)6 iz
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38. The validity of a temporary registration ofa 38. WX-IATATAE ATET % arearrAY ST A Ferar T
non-transport vehicle can be extended up to oy o o T S ER &
(A)10 days (A0 v
{B)15 dayé SN & .
: (C)FTE arate Lt
(C)No extension ()30 .
(D)30 days
39. According to which of the following Acts, a 39. ?F'Tﬁ q ﬁ\“f FfafTa F A TE wﬁ’ﬁ %1 2T
person must NOT place or maintain mﬁ T ST AT T
commercial advertising on a traffic control
device? (A)Iﬁ'a'(aﬁ‘ﬁ' rfrae, 1988
(A)Motor Vehicles Act, 1988 ®) W frfrT, 1961
(B)Police Act, 1961 (G st aff, 1926
(C)Trade Unions Act, 1926 ERC ffrrw, 1959
(D)Arms Act, 1959
40. In principle, Gross Vehicle Weight (GVW)is 40. R 3 AT HIEL TR wf?rﬁw,wss Y
the right basis of taxation in relation to goods m S W:?;q;ﬁg :“{_{“T -
vehicle as defined in Motor Vehicles Act, PP G——— -
1988, as it reflects which of the following? )
(A)Floor Space (PR TP
(B)Road Damage B il ?)Tﬁ
(C)Ownership (C)W
(D)Seating Capacity (ST S
41. The current structure of Motor Vehicles Tax in41. AT § WET aTgd FT T AGAE ALAA1 A
India is primarily based on LR CURCEY
(A) Ownership of vehicle (A)ATE F FTHA
(B)Road Maintenance Cost (B)®EF T@y@Td AT
(C)Revenue position of the state (C)Trs= #it T fafa
(D)Cascading effect (D)=ATaE TAT
Page 11 of 32
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42. Use of motor vehicle in an emergency for the 42. STITAHT § HIZT ATET HT TART STHTT IT HA

conveyance of persons suffering from T qfSre F fo ¥ forg

T QT TTAT & (a7 T4 Hl FH FA &
sickness or injury or for the transport of Fre a7 RrfEar W‘Iﬁ ¥ HET SR9T F
materials for repair or for the transport food or afagd &1 e e srfaffas & sraari & ge
materials to relieve distress or of medical T €7

supplies for like purposes are exempt from

provisions of which act? (A)¥Tex e srfarfaer, 1988 T &mer 190(1)

(A) Section 190(1) of Motor Vehicles Act, (B)#TeX are AfafRaw, 1988 Fit o1 66 X
1988 aTRT 192A

(B) Section 66 and Section 192A of Motor (C)ureT are wfarfae, 1988 Ht am<r 190(1)
Vehicles Act, 1988 3T 41T 66

(C)Section 190(1) and Section 66 of Motor (D)#eX arg sfafaaw, 1988 #it &mT 190(2)
Vehicles Act, 1988 R &1 66

(D)Section 190(2) and Section 66 of Motor
Vehicles Act, 1988

43. A Learner's License issued under The Motor 43. HYex aTg+ afarf=ry, 1988, ¥ qad e a4

Vehicles Act, 1988, shall be effective for how & % ST &1 o fhee et o Tt
many months from the date of issue of the T

license?

(A) 12 months P

(B)2 months Bz

(C)6 months L

(D)1 month BN S

Page 12 of 32
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44. A police officer in uniform may arrest without 44.

45.

46.

warrant any person who in his presence
commits dangerous or reckless driving under

the section of

(A) 184 of Motor Vehicles Act, 1988
(B) 181 of Motor Vehicles Act, 1988
(C)190 of Motor Vehicles Act, 1988
(D)204 of Motor Vehicles Act, 1988

A ticket to be displayed on a motor vehicle as 45.

an indication that the tax has been duly paid
or that no tax is payable is called

(A) A token

(B) A receipt

(C)An acknowledgement

(D)A bill

In the case of Construction Equipment

Vehicle with more than two axles, the length
shall NOT exceed

(A) 18 meters
(B)20 meters
(C)22 meters
(D)24 meters

Srafrfira § & 91 & S F a2d UF adard

ferer arfarary faefy oft T =i i frewm F7

AT £ ST SUA WIS H @aAr I AIAe

(A) WV aTEa Ffatam, 1988 F FFAT 184 &
dad

(B) H1=T aTa Afaffr, 1988 F #%a 181 %
ded

(C)¥iex aTea wfafa, 1988 F ¥4 190 &
qgd

(D)¥TeT AT afafaaH, 1988 ¥ AFAT 204 F
ded

7% F¢ 1 AT Sta v & Gy g A

FTE T 3T TS 2, g AT A F g 0F #iex

AR T T & FAT e Tafia FwAr ARe?

(A)ZrFT

(B)TH=

(Cyuradt
O)fa=

| &7 T & afee UHE AT AT ST

ATe % ATer # SEeh wears G fe § afaw
TEN ST ATE0?

(A) 18 Hiex
(B)20 Hi=x
(C)22 ez
(D)24 Hex

Page 13 of 32
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47.

48.

49.

50.

As per the Central Motor Vehicles Rules,

1989, a motor vehicle with at least four

wheels used for the carriage of goods

belongs to which category?

(A)N

(B)N-1

(C)N-2

(D)N-3

Motor insurance covers which of the

following?

(A)Burglary, housebreaking and theft of the
vehicle

(B) Accident under influence of intoxicating
liquor / drugs

(C)Accident taking place beyond
geographical limits

(D)Electrical or Mechanical breakdowns

As per Rule 141 of Central Motor Vehicle

Rules, 1989, Certificate of Insurance is to be

issued only in
(A)Form 51
(B)Form 18
(C)Form 16
(D)Form 31

A driver of a vehicle detained by an officer for 50.

drunken driving

(A)Has to submit himself for breath test
(B)Can request the police officer to let him go
(C)Should take up a driving test

(D)Can bribe the police officer and leave

47.

48.

49.

Wtﬁawﬁw 1989 F AT ATeF F

%ﬂﬁgﬁmﬁmmw@%ww%ﬁ
oY & ST 272

(AN

(B)N-1
(C)N-2
(D)N-3

ﬁa‘taﬁwﬁsrff%%aﬁtmw%’?

(A) FTE =T Fer, Agardy o S

(B) &t ATt for / 1 % woiray # g5 gefeny
(C)wTTifers =fmmadt & v =t gefen

(D) g 7T i3 gt

ST AeT aTeq A, 1989 ¥ fy 141 %

STTATT AT oo e e ey ot & s

=T =fR?

(A)wiT 51

(B)®wid 18

(C)=®if 16

(D)w®IT 31

TN T o Tl ¥ Form v afewrd g Sy

ERSCIFC I ED

(A)ﬁmqﬁw%ﬁmq—r:ﬁwmm

(B)SH ST 27 3 forw qferer sifrrdt & sregter
FLHAFATE

(C) U STl wdteror a7 =i

(D) T sfarrey v foaa X foeer w2
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51.

b2.

53.

54.

55.

Iff(z)=3z+9 and g(z) =7z +4, then at what 51.

value of z will f(z) + g(z) will be equal to zero?
(A)-1.1

(B)-1.3

(C)-2.7

(D)-2.9

Which of the following equations is
inconsistent with 7p + 59 = 9?
(A)21p-18q= 12

(B)7p-59=18

(C)14p-5q =18

(D)14p + 10q =20

If the mean of 10, 5, 6, aand b is 11, then
what is the median of a + 5 and b - 37
(A)18

(B)20

(C)21

(D)22

If A can do a piece of work in 9 days and B in 54.

12 days, then in how many days will the work
be completed if they start working together?
(A)33/7 days

(B) 34/7 days

(C)35/7 days

(D)36/7 days

Solve the following equation:

1.0625 + 0.125x0.04 + 0.2="7

(A)23/50

(B)27/50

(C)31/50

(D)37/50

afxf(z)= 3z +9ATg@D =72+ AR, 2F
i a9 f(z) + 9(@) o % FTEL E?
(A)-1.1

®)-13

©)-2.7

(D)-2.9

. fafate a—:ﬁw‘fﬁ'ﬁ@fﬁ‘vfm7p+5q=9%

YT FETA 57
(A)21p - 189 =12
(B)7p-59=18
(C)14p-5q =18
(D)14p + 10q =20

. af¥ 10, 5, 6, a AT b F 7TET 11 AT, a+5TA

b - 3 T ST 4T 2H7?

(A)18

(B)20

(C)21

(D)22
qﬁAﬁwﬁmaﬁeﬁaﬁw%sﬁTBﬁ
1 F7 12 3 & Fgar & A, A0 Hew HH
3 T T FT A Ch 2 F O H A 27
(A)33/7 ==

(B)34/7 &=

(C)35/7 fa=

(D)36/7 &=

e T 29 A

1.0625 = 0.125 x 0.04 + 0.2 = ?
(A)23/50
(B)27/50
(C)31/50
(D)37/50
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56.

57.

58.

59.

60.

With which minimum prime factor should 50 56.

be divided to make it a perfect square?
(A)2
(B)3
(C)5
(D)7

Find the volume of the sphere with diameter 57.

as 8 m.
262

Find the sum of roots of 5x2 - 9x - 7 = 0.
(A)5/9

(B)9r5

(C)7/5

(D)517

Find the 12th term of the series: 2,6,18,54
(A)2 x 31

(B)2 x 3

(C)2 x 32

(D)2 x 32

.....

If 5x2 - 3x - 3 = 0, then solve for x.

(A)x=(5+69)/10 or x = (3 - Vv69)/10
(B)x = (3 + V69)/10 or x = (5 - v69)/10
(C)x=(3+69)/10 or x = (3 - V69)/10
(D)x =(5+69)/10 or x = (5 - V69)/10

58.

59,

60.

50 %1 qof & a1 ¥ v ey wrad Gy s
T & i swzar =g

(A)2

(B)3

(C)5

(D)7

8 HYeX ¥ =19 F & T ST 71q F31

(A)

(B) e
(C) Zaeet

(D) 2 e’

5X* - OX - 7 = O % TeAT T T ST F¥
(A)5/9

(B)9/5

(C)7/5

(D)5/7

2,6,18,54, ... AT FT TLEAT F ST F1
(A)2 x 310

(B)2 x 31

(C)2 x 312

(D)2 x 31

72 5x2 - 3x - 3= 0 & T, x T 7T 51 1
(A)x = (5 + v69)/10 T x = (3 - V69)/10
(B)x = (3 + v69)/10 T x = (5 - V69)/10
(C)x = (3 + v69)/10 7T x = (3 - V69)/110
(D)x = (5 + /69)/10 or 7T = (5 - V69)/10
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61.

62.

63.

There is a square of side 3 cm by 3 cm, as

shown below. Find the area of the shaded

(A) (36 + 9n)/4 cm?

(B)(40 - 9n)/4 cm?

(C)(36 - 9n)/4 cm?

(D) (40 + 9n)/4 cm?

From the top of the tower, the angle of
depression of the boat is 30°. Find the height
of the tower if the distance of the boat from
the foot of the tower is 20 meters.
(A)10/4/3m

(B)20/V3 m

(C)40/V3 m

(D)50/v3 m

The angle of elevation of two towers is 60°
and 45° from a point A on the ground. If the
height of the shortest tower is 45 m making
an angle of elevation of 45°, then find the
height of the tallest tower if both the towers
are on the opposite side of the point A and
also the distance of the foot of both the
towers is equal from point A.

(A)48Y3m

(B)42v3 m

(C)45v3 m

(D)44V3 m

62.

63.

. 3 7or 3 Ffedtex @ uF [ & SE A Farn

TAT Z1 FrEiTd RE 1 &R ;A w1

(A) (36 + 9n)/4 Ffewde?
(B) (40 - 9n)/4 &ferfrzs
(C)(36 - 9n)/4 Hfertzz?
(D)(40 + 9n)/4 Ffeedze2
Z1aT % o & Frar 7 A=AETE HH 30° | AT

T F qef F 719 it g 20 Hex g a1, cE i
FATE @ HL

(A)10/V3 Htex
(B)20/+/3 Htex
(C)40/+3 Htex
(D)50/43 Htzx

Y ZTET T AR F0 G F OF TEe AT 60°
AT 45° 21 3T T Yie 2Ta A FATS 45 Hiew
2 ST 45° T ISTA T 4T T2T & AT, Fad a8
ZTaT T HH=TE ST Y 3L AT 219 qigee A #0
i fRem u= & o ara & T4 & TE F AT
#i1 7f Ifge AT quE 2

(A)48+3 Hiex
(B)42+3 =z
(C)45v3 Hizx
(D)44v3 =X

Page 17 of 32

https://www.freshersnow.com/previous-year-question-papers/



528

64. Three pipes each of 4 cm in diameter are to  64. 4 ATt sara aTer fi e U=y I 3 7 7

. b " W?ﬂ.@ﬁ?ﬂ%@w%mwwél
be replaced by a single pipe discharging the SRENAPAFAIS 2dr s =T T

same quantity of water. What should be its

ITfEu?
diameter, if the speed of water is the same?
(A)2V3 cms (A) 273 #iferfizz
(B)3v3cms (B) 3V3 #iewfex
(C)4v3 cms (C)4+3 dffiex
(D)2V5 cms (D)2v5 Hfftex

65. If S eats 1 toffee on the first day, 1.5 on the 65. ?4'%8‘13‘%%?1%@@3,@@?15,
next day, 2 on the third day, 2.5 on the fourth fav fZm 2, 9 B 2.5 =1y A2 =+t ag =TT

day and so on, then how many toffees will S ST AN, TG A S fora =i arar 82
eatin the month of June?

(A)240.5 toffees (A)240.5 =i

(B)244 5 toffees (B)244.5 =iy

(C)247 5 toffees (C)247. 5 =iy

(D)252.5 toffees (D)252.5 zrfr
66. Ifdx + 5y = 7 and Sx+4y=8 thenxandy 6. ’Jﬁ4x+5y=73ﬁ‘(5x+4y=8§a3r,x3ﬁ'{y%

(A)have infinitely many solutions (A) sT8=T g7 26

(B) have unique solution (B) s a1 gt

(C)have no solution (C)#rg == 7 g

(D)cannot be determined (D)2 fRartfa 7 fro 57 gy
67. Solve the following equation: 67. e wfisor 2o v

(40.36 + ¥0.81) x ¥0.01 = 2 (V0.36 + v0.81) x v0.01 = ?

A)1.2 (A)1.2

(B)1.05 (B)1.05

(C)0.25 (C)0.25

(D)0.15 (D)0.15
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68.

69.

70.

A

Find the cost of painting the 4 walls of the
room with dimensions 100 cm x 60 cm x 40
cm (Length x Breadth x Height). (Given that
cost of painting per cm? is Rs. 5)

(A)Rs. 64000

(B)Rs. 60000

(C)Rs. 58000

(D)Rs. 68000

If 3x + 4y = 7 and 6x + 8y = 14, thenxandy 69.

(A)have infinitely many solutions

(B)have unique solution

(C)have no solution

(D)cannot be determined

Which of the following quadratic equations
will give imaginary solution?
(A)3z2-4z-4=0

(B)2k?-2k +8=0

(C)n2-3n+2=0

D)jF+2i-5=0

If o and B are the roots of the equation

2x2 - 7x + 6 = 0, then find the equation whose
roots are o + B and o - B.
(A)4x2-16x+7=0

(B)4x2-4x+7=0

(C)yx2-16x+7=0

(D)4x?-16x +3 =0

68. o 7 =T ST iy W A w2

T s 100 Ffefiet x 60 &feriet x 40

Ffrefre (TS x FETE x FAE) B\ F
T i = why At 5 ¥ 7)
(A)%. 64000

(B)%. 60000
(C)%. 58000
(D). 68000

af% 3x + 4y = 7 ST 6x + 8y = 14 AT, x Ty
F

(A) TE=T B B

(B) o> B B
(C)#TE ot &l B

(D)z= fRatfia 7t fr s awa

_ Crarfer R e & & F9 77 FA A

THTET 277?
(A)3z2-4z-4=0
(B)2k?-2k+8=0
(C)n2-3n+2=0
(D)jF+2i-5=0

. A% o T B EEET 22 - Tx + 6= 0F UA &

. T FEVHTT FT TG L oEH G o + B AT
a-B3l

(A)4x2-16x+7=0

(B)4x? -4x +7=0

(C)x?- 16x+7 =0

(D)4x2 - 16x +3=0
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72. {fthereis a series: 2,5, 8, 11, 14,17, ........ , 72. T umyg@Ear2, 5,8, 11, 14,17, ..., 24T,
then find the sum of the series upto 48 terms. 48 9T TF F AT FT AR AT H1
(A)2880 (A) 2880
(B)3680 (B) 3680
(C)3560 (C)3560
{(D)3480 (D)3480

73. {ff(x) = x* + 2x + 1, then find z = (Sum of 73. FRXA(x) = x2+ 2x + 1 &, z = (f(x) F =21 *1
zeros of f(x) + product of zeroes of f(x)). AT + F(x) F AT FT TOAE) FT T TG FL|
A1 (A)1
(8)2 (B)2
©€)3 (C)3
(D)4 (D)4

74. 1f4x/3 + 2y/5 =2 and x/3 + y/4 = 3, then 74. AR 4xI3+2y/5=2 FTx/3 +y/4 =3 E 4T, X
solve for x and y. AT y F forT g w4
(A)x =-11/2 and y = 47/3 (A)x =-112 8Ty = 47/3
B)x=50/3andy =-7/2 (B)x =50/3 3Ty =-7/2
(C)x=-11/2 and y = 37/3 (C)x =-112 3T y = 37/3
(D)x =-7/2 and y = 50/3 (D)x = -7/2 Ty = 50/3
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75.

76.

77.

The following table shows the cumulative 75
rainfall (in inches) for the first six months of
the year. In which month was the rainfall in

inches maximum?

Cumutative Rainfall
(in inches)
5
11
18
28
24
40

Mantin

January

February

March
April
May

June
(A) April
(B)May
(C)June
(D)February

The common point of a tangent to a circle

and the circle is called

(A) Point of normality

(B) Centre of the circle

(C)Point of orthogonality

(D)Point of contact

In the following figure, RS is the diameter of

the circle and angle QSP = 25° and angle
QRS = 85°. Find the angle SQP.

7N,
/

(A)85°
(B)65°
(C)60°
(D)25°

77

76.

. T arforar & o & wed gy wEE F B E=
) F=eft aut T AT Fqar gl A A iw o
stferaw auf 2

gwdt aaf
E= )
5
11
18
28
a4
40

(A)
(8)w%

(C)

(D)yFTadt

FAT FgaTar g?

(A)TiE= 3w ArHToET

(B) T T &=

(C)uizee A AT T

(D)uTEez A Freeae

AT

STEr
weadl

A% 4

PE
A

. A= == |, RS 39 &7 =97 § ST &1

QSP = 25° T FT QRS = 85° g1 SQP FT7T
BIGEERY

(A)85°

(B)65°
(C)60°
(D)25°
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78.

If ax?

+bx + ¢ =0, then to have irrational
roots, discriminant should be
(A) greater than zero and should not be a
perfect square
(B) greater than zero and shouid be a perfect
square
(C)lesser than zero and should notbe a
perfect square
(D)lesser than zero and shouid be a perfect
square
79. Ifaand b are the roots of the equation
X*+ax+b=0,thena+bis
(A)1
(B)2
(C)-2
(D)-1
80. Solve the following equation:
(0.333333....) x 99 + (0.666666....) x102 = 2
(A)99
(B)100
(C)101
(D)102
81. For which of the following values of D is the
mode of D, 2D-1,D+4,3D + 1 and 5D
equal to 97
(A)3
(B)4
(C)5
(D)6
Page 22 of 32

78.

79.

80.

81.

Hﬁax2+bx+c=oéﬁ,mﬁﬁwi‘avﬁ?ﬁ
form i i

(A)Qﬂﬁmwwéqaﬁ'(ﬁ?ﬁﬁ

(B)?ﬂé@?%ﬁﬁﬁ@ﬂmﬁq
(C)Wﬁwsﬁwwﬁrﬁﬂﬁ@ww
(D)smﬁm@mm%qsﬁwaﬁ-@ww%q

Hﬁaﬁ?bﬁ’ﬁ‘oﬁwxz+ax+b=owwg
AT, @+ b T =77 777 73

(A)1

(B)2

(C)-2

(D)-1

% wefteror zor 3

(0.333333....) x 99 + (0.666666.. ) x102 = ?
(A)99

(B)100

(C)101

(D)102

ﬁqﬁﬁo%ﬁrqw%ﬁvo, 2D-1,D + 4,
3D +1 aﬁr50a:r1ﬁe9%mm%j?

(A)3

(B)4

(®)

(D)

o O,
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82. The perimeter of a sector of a circle of radius 82. 5.7 dfefrex e arer o 9 & FeEe &

5.7 cm is 27.2 cm. Find the area of the ::gﬁlﬁ 27.2 S g Prsweie S sl I
sector.
(A)45.03 cm? (A)45.03 Hfedfiee
(B)25.02 cn? (8)25.02 Hferre
(C)30.12 cm? (C)30.12 Hfefiee
(D)14 cm? (D)14 Hfediez?
83. Write x = 0.37373737....... ,in the p/q form? 83. x=0.37373737....... I plq TET § forE?
(A)x = 37/100 (A)x = 37/100
(B)x = 37/99 (B)x = 37/99
(C)x = 37/101 (C)x = 37/101
(D)x = 37/102 (D)x = 37/102
84. A can finish a piece of work in 18 days and B 84. A ft w7 18 fam & @y &< a1 2 <7 B
can do the same work in 15 days. B worked I FT FT 15 A A Fasar g1 B 7 10 =9
for 10 days and left the job. In how many T FCH Fe (AT ST A 99w &1 A
days can A alone finish the remaining work? AT & =T T FHaT 82
(A)5 (A)5
(B)6 (B)6
(C)7 ' (C)7
(D)8 (D)8
85. If V saved Rs. 4 on the first day of the month, 85. =f2 V udiv % vga R\ = 4, g faq = 6, d1¢
Rs. 6 on the second day of the month, Rs. 8 = 8w st yeR A o9 Far & 41, 9479 5
on the third day and so on, then find the total T | V A T T=q A1 F
savings of V for the month of March.
(A)1054 (A)1054
(B) 1064 (B)1064
(C)1154 (C)1154
(D)1014 (D)1014
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86.

87.

If the pair of linear equations, 2x + 5y = 6 and 86. ¥ Yefr FHRT £ S 2x + 5y = 6 siiT

kx + 4y =7 gives unique solutions, then
choose the correct option for value of k.
(A)k =8/5
(B)k = 5/8
(C)k =213
(D)k = 312

Find the quadratic-equation whose roots are 87.

4 and -3.
(A)x2-x+12=0
B)x*+x-12=0

kx+4y =7 Sq3T 29 39 & 4, k 7 98 A S
£l

(A)k = 8/5

(B)k £5/8

(C)k = 2/3

(D)k # 3/2
wmﬂmmwﬁﬁww
4 37 -3 &

(A)x2-x+12=0

B)x*+x-12=0

C)x2-x-12=0 C)x*-x-12=0
D)2+ x+12=0 (D)xt+x+12=0

88. A spherical ball of 8 cms diameter is melted  88. ;@%ﬁ? =T Y Wﬁﬁ?ﬁ Tz 14 ﬁﬁtﬁz‘t
into a cone with base 14 cms in diameter. g_;;mjﬁ;? aj_fr EﬁQT e srrar &
Find its height. (A) 256/49 Ffrefer
P280Mecms (B)259/49 #fefizr
(B)2500 oms (C)266/49 #frfier
(C)266/49 cms (D)356/49 Ffefrer
(D)356/49 cms

89. There is a cliff of height 400 m, the angle of  89. 400 #iev =T Fir vw FEM &, TS A T
elevation of the top of the cliff is 45° from a IR Fror g F v wfze= A 7 450 B e
point A on the ground and the angle of F = F7 =t Fror gfy F v i qEE B R
elevation of the top of the cliff is 30° from 30° 21 3/ A =i B 2T, | F UF & ACE
another point 8 on the ground. Find the T, A ST B ¥ o Y off st w92
distance between A and B if both A and B are
on the same side of the cliff? (A)400(V2 - 1) Htex
(A)400(v2 - 1) m (B)300(V3 - 1) #fizx
(B)300(v3-1)m (C)400(v3 - 1) Hi=x
(C)400(v3 - 1) m (D)400(V3 + 1) =z
(D)400(v3 + 1) m
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90. The following table shows the income ofa ~ 90. % Ao & 7E ¥ gger 10 At & oo (30

man (in Rupees) for the first 10 days of the #) s =afR% FT A qaT AT 2l A A 10

month. If the income for the next 10 days also  fit 1 i 1 ¥t 77 & Telr 2 (At 1:; 1 1%
i 2

remains in the same (i.e. income on day 11 is i o e 1 % w12 9

AT 27 3T [ =T T A{Ta
same as day 1, income on day 12 is same as : &1 geR) T, 1647 2 o w=eft

. I
day 2 and so on), then find the cumulative
income till 15t day.
feaiw
Income
Date €
i 1 1000
1 1000 5 —
2 1350 = e
a | 2150 - e
2 | B0 5 1750
5 1750 g p—
6 1675 = i
! i 8 2180
& | o g | 2450
51 20 10 | 2125
10 | 2125
(A)Rs. 22250 (A)®. 22250
(B)Rs. 23550 (B)®. 23550
(C)Rs. 24550 (C)%. 24550
(D)Rs. 26750 (D)%. 26750
91. If x2- 6x + 5 =0, then solve for value of x. 91. af¥ x2-6x + 5 =07, x FT TTF ATq F
(A)2 or6 (A)2aT6
(D)6 or 7 (D)6 aT 7
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92. Find the length of the side of the rhombus 92, S8 BHEQHS Hi 7158 it A¥aTE AT FL o=
m fa 2 fa S S S ﬁ
whose area is 24 m? and one of the diagonals TS g i &l

is6 m.

(A)5 Hrzx
(A)5m

(B)6 Hiex
(B)6 m

(C)4 ez
(C)dm

(D)8 Hizx
(D)8 m

93. Find thedeast possible value of integer nif ~ 93. afx 9, 15, 10, n 3% 2n 7 ATeT 20 ¥ ST &
the mean of 9, 15, 10, n and 2n is greater T, QUi n At AT FATET JTEHT S H4
than 20. (A)20
(A)20 (B)21
B)21 (C)22
(C)22 (D)23
(D)23

94. Ratio of radius of two circles is 3:8. Find the 94. =T 3 %t rsavad &1 A 3:8 HES RS
ratio of areas of these two circles. G T ST A

(A)3:8
(A)3:8
B)9:64
(B)9:64 ®)
(C)s4:9
(C)64:9
D)8:3
(D)8:3 ) ©)

95. The number 142 is to be written as a product 95. 142 HeaT FT 38q% THTST [T 3 [UFT &7 F
of its prime factors. Which one of the ferar s &1 Fraferfa & & Fi ar ey o
following is CORRECT? 27
(A)2x73 (A)2xT73
(B)2 x 71 (B)2x71
(C)2x79 (C)2x79
(D)3 x 73 (D)3 x73
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96. Cube root of which of the following is a surd? 96. z=# ¥ {3 HeaT #1770 g F0{1 272

(A)0.729 (A)0.729
(B)1.331 (B)1.331
(C)1.728 (C)1.728
(D)1.993 (D)1.993
97. Find the remainder when h(x) = 4x® - 2x2 + 6x 97. T2 h(x) = 4x* - 2x* + 6X - 4 I (x-3)F
- 4 is divided by (x - 3). farafora &4 a1, 9w fraaT grm?
(A)100 (A)100
(B)102 (B)102
(C)104 (C)104
(D)106 (D)106
98. There were 120 students in a class. Each girl 98. T err & 120 f=mff 4| s a=ft 5. 2
contributed Rs. 2 and each boy contributed T TeAF FEH H €. 3 F TRE FA T FA
Rs. 3, the total money collected was Rs. 290. AT T €. 290 aAT| FaAT H AsfHAT it TE=AT
Find the number of girls in the class. BIRE Y
(A)40 (A)40
(B)50 (B)50
()60 (C)60
(D)70 (D)70
99. If a cricketer scores 3 runs in the first over, 4 99. =f2 wa fifFet T8 A=< § 3 ¥ 9T@T €, TAL
in the second over, 5 in the third over and so AT § 4 77 TG 2, 9L AFTH 5 I AT
on, then how many runs will he score in 50 A =T 9 § AR T G477 g ¥, A g fAar
overs without getting out? ag 50 a7 ¥ fahaa 7 FqTOT?
(A)1375 (A)1375
(B)1280 (B) 1280
(C)1195 (C)1195
(D)1455 (D)1455
Page 27 of 32

https://www.freshersnow.com/previous-year-question-papers/



528

100. Which of the following is NOT a surd?
(A)V25
(B)V37
(C)v48
(D)V51

Space For Rough Work:

100,z ¥ Frt FAT AL 27
(A)V25
(B)V37
(C)~48
(D)V51
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Space For Rough Work:
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Space For Rough Work:
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Space For Rough Work:

Page 31 of 32

https://www.freshersnow.com/previous-year-question-papers/



vy

528

Instructions / fr&ar

Please read the following instructions carefully:

1. Mark carefully your Roll Number, Question
Booklet Number and Code on the OMR
Answer Sheet and sign at the appropriate
place. Write your Roll number on the Question
Booklet. In the absence of Roll Number,
Question Booklet Number, Question Booklet
code and Signature on the Answer Sheet, it
may NOT be evaluated and it may be
cancelled.

2. Strictly follow the instructions given by the
Centre Superintendent / Centre Observer /
Room Invigilator and instructions given on the
Question Bookiet.

3. Candidates are NOT allowed to carry any
papers, notes, books, calculators, cellular
phones, scanning devices, pagers etc. to the
Examination Hall. Any candidate found using,
or in possession of such unauthorized material
or involved in copying or impersonation or

¥4. This examination is of objective type. The
LW question Booklet contains a total of 100

questions and the total time allotted is 120
minutes. All questions are compulsory and
carry 1 mark each. Every correct answer will
get 1 mark and 0.333 mark will be deducted for
each wrong answer.

5. The candidates must check that the
Question Booklet hasc100 questions with
multiple choice answers. If any discrepancy is
found, report to the Invigilator immediately,

so that the Question Booklet may be replaced.

6. Each objective question is followed by four
answers in which one is correct. Your task is to
choose the correct answer and mark your

Answer on the OMR Answer Sheet, NOT on
the Question Bookiet.

7. Completely darken the CIRCLE so that the
alphabet inside the CIRCLE is NOT visible.
Darken only one circle for each answer. The
CORRECT and the WRONG method of
darkening the CIRCLE on the OMR answer
sheet are given in the example below:

Correct Method Wrong Method

C@®@OO ceoe
OO0
OO0 O
OO®O
8. Use black ink ball point pen for filling the
boxes and darkening the circle on the OMR
Answer Sheet. Do NOT use pencil.

9. In view of the limited times span, do NOT
waste your time on a question which you find
to be difficult. Go on solving questions one by
one and come back to difficult questions at the
end. Itis only an advice.

10. Folding / wrinkling or putting any unwanted
mark or damaging the OMR Answer sheet is
prohibited. The candidate will be responsible
for invalidation of the OMR Answer sheet for
doing such deeds.

11. Use the space provided for Rough Work in
the Question Booklet.

12. The OMR answer sheet will have to be
submitted to the invigilator after the
examination. Candidates are allowed to carry
their Question Booklet from the examination
hall after the examination.

13. Questions are in both English and Hindi. If
any confusion arises in the Hindi version,
please refer to the English version of the
question.
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